1.

Which states were removed from the Rajputana

Agency and placed ypder GUJarat Agency in

February 19489

(A) Palanpur

(B) Dungarpur

(C) Sirohi

(D) Vijaynagar

Select the correct answer -

(1) (A), B)and (C) (2 (A) and (B)

(3) (A), (C) and (D) (a) (B), (C) and (D)
(5) Question not attempted

- Which political agent’s slit head was hung on the

Fort of Auwa by the rebels of 18577

(1) Major Burton (2) Major Showers
(3) Col. Eden
(5) Question not attempted

In which Fort the highest part was used for Royal
palace, the lowest part for reservoirs and the flat
part was kept safe for agriculture?

(1) Jaisalmer Fort (2) Nagaur Fort -

(3) Gagron Fort (4) Kumbbhalgarh Fort
(5) Question not attempted :

Who is the author of the book named. ‘Unhappy

India’?
(1) LalaLajpatRai.  (2) J.L. Nehru'

(3) L. Fisher (4) M. Brecher
(5) Question not attempted -

5. Which of the following are the features of the

—_— .
OA -5

unique sculpture in the temple of Ranakpur?

(A) The weak figures of women have been
depicted here with priority.

(B) Demonstration’ of various postures in
female statues through fine carving.

(C) Exquisite floral motifs, a hallmark of
GUJaratl art and tradition,

(D) Theregre no deplctlons of Weapons in the

S[ﬂlll% here.
Select the couect answer -
(1) (A), (C) and (D)
(3) (B), (C) and (D)
() Question not attempte

(4) (A), (B)and (D)

(4) Capt. MonckMason :

QMWW

(2) (A), (B) and (©) ﬂ:'

1. gra® 1948 ¥ R T BT TG vor @

FeraR e Torre B AT ¥ Ry e

(A) T R

(B) YRR

C) R

(D) fasgTR Y,
e SR AT —
(1) (A), (B) 3R (C)
(3) (A), (C) 3R (D)
(5) 3rgafa we

@ (A)3R BN
) (B), (C) 3R (D)

. 1857 & fagiRal grr fFw uifafewra woie &

Pl RR A18a & fdhel IR dea A 1ar or?
(1) AR g4 (2) AR vfad

@) ofa fe7 (@A Ald AT
(&agaﬁaw

. f5E f5a 3§ §a S AT B YA SIS,

I A AT D A IR AT HIT Bl

et & fog gfEa v Tar?

(1) SR &7 fher  (2) AFIR &7 fFan
(3) R HT e L(A—)/?»'*Wzm%w
(5) argaRa ueA

4. R 3R T [H B @S P 2

(2) e AF®
(4) TH. drerR

(1) e dreua g

(5) IrgaRa U

. ER B AR § B T At qvea o

feifea & ¥ PN fRAdwa &2

(A) TN ) o HfyAT B FET AriRED
q IHT T 2|

(B) A wfrral % Wew ceror ¥ AR g
BT WS |

(C) 9B I Tz, WY o Hem AR
WIRT O Y89 &

(D) FEl & ufwel § ore—vrEl & b
T8 2|

el I BT WA g —
(1) (A), (C) 3R (D) ~42)/ A), (B) 3R (C)

() (B), ©) 3R DY @ (A),(B)IRMOIN
(5) arfaRa gwm

L PR
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6. Raja Man Singh as the Subedar of Bihar led his
first expedition against which ruler of Bihar?
(1) Sayyids of Shambhupuri
(2) Raja Puranmal of Gidhaur
() Raja Ganpat of Hazipur

(4) Sangram Singh of Khadagpur
(5) Question not attempted

Which statements are not correct in the context
of Govindgiri and his Bhagat Movement?
(A)  Govindgiri participated in
Non-Cooperation Movement
Panchmahal district.during 1921-22.
After his release from Ahmedabad Central
Prison, Govindgiri remained in exile at
.Barsod in Panchmahal till death. ;
Under the influence of Govindgiri, Bhagat
Bhils of Banswara organised themselves
within the framework of Hinduism. .
N. Bhattacharya the Dewan of Banswara
suppressed Bhagat Movement ‘during
1927-1931.

Select the correct answer -

(1) (B) and (D) ~ (2) (A)and (C) |
(3) (C) and (D) (4) (A)and (B)
(5) Question not attempted -

the -
in

(B)

)

D)

Which text among the following is not wntten by :

Dr. Ambedkar? _

(1) The Annihilation of Caste

(2) The Buddha and His Dhamma

(3) The Nadars of Tamilnad |

(4) Revolution and Counter Revolutlon
Ancient India

(5) Question not attempted

in

Select the incorrect statement with reference to

Gupta’s architecture - '

(1) The roof of the Vishnu temple of Eran is flat.

(2) The Dashavatara temple at Deogarh presentg"‘"‘&
the ornate Gupta style architecture with e
high Shikhara.

(3) The Bhumra temple is dedicated to Lord
Vishnu.

(4) The Parvati temple of Nachna Kuthara is
built in Chaitya style.

(5) Question not attempted

OA -

Page 3 of 24

fwf’ ‘

?l

2 ﬁ%ﬂ%@m%mﬁwqﬁ%

YR aiftyar RER & fva arrd @

() g & g

(2)W$WWV@,
B ESAIgR @ <. T
@) TR @ wam Rig
5) srgaRa wea
My ok S8 wrg
PR FUT FE AR F?
(&) 1921-22 ¥ Tovrea forer #

W%Mﬁ

®)

m’ﬂﬂ"'

Tﬁﬁ?ﬁl‘?f%w%m‘ﬂw ﬁ

3 w@E B g o B e A
- e | _
1927@1931a%qwama1€f$m_7
‘Wﬂgﬁlﬁﬁwmcﬁﬁm
& SR BT WA Big —
. (1) (B) 3R (D) ) (A)Gﬂ'\’(C)
@ (© 3D \(M)a_ﬁv(B)
- (8) srgaRda == y ‘
frfaRad § 9@ e g <t mﬁwm
- TEY o wam ¥ |
(ﬂamﬁ%ﬁmﬂwm
(z)agﬁ@%\_ﬂa’ﬂ:{\/
@) T 9y 3% daffeHrs .

@ ﬁa‘mgmwwﬁa‘m@ngm

(S)Wﬁaw
‘Iﬁma‘iﬂﬁﬁﬁmmﬁw
(ﬂQ"@TE#ﬁmgFﬁ‘\f?ﬁBﬁmgl

(2)Wﬁamquﬁ?mﬁ]m% 7
(S)wmvﬁvwaﬁﬁrﬂgzﬁw §|
\wﬁwmwmwﬁwﬁm%
gl st
(5) argaRa weA

(©

.. (D)

d




10. During the reign of which Sultan of Delhi

Sultanate, Govindraj of Ajmer established |

himself at Ranthambors"
(1) Qutubuddin Aibak (2) Iitutmish

(3) Balban (4) Nasiruddin

. Mahmud
(5) Question not attempted

In tlTe INSCriptions of the Pratihars, the state
officials were called -

(1) Rajpurusha (2) Samanf :
(3) Darbari (4) Mantri
(5) Question not attempted

1.

12. Who among the following ‘Lok Devta’ is called

‘Avatar of Lakshmanji’?
(1) Pabuji (2) Hadbuji
(3) Ramdeviji - (4) Gogap
(5) Question not attempted -
13. Which among the following archaelogxcal sites
is not related to ‘Ahar Culture’?
(1) Pind (2) Gilund
(3) Alod (4) Baror
(5) Question not attempted
Which of the following facts about Lucknow, in
the first War of Independence of 1857 1s false?
(1) The defeated British took refuge in Begum
Hazrat Mahal’s palace for self defence
(2) It started in Lucknow on 30" May 1857
(3) Birjis Qadr was declared the ‘Wah of
Lucknow’ in the early August 1857, _
(4) The British were defeated in’ thelBattle of

14.

10. frech TaEd @ A G @ ITA B ARM

 orie b e ¥ 9 1 e et
Rt
o O g @ st
\,(3/) CREGH (4) :Rﬂﬁ:fqgtﬁ
(5) arpaRa o
1. SRRt @ ferat ¥ TeTRERA @ P
ofidr a1 —
| (1) -\rmg\;,—q %W 1
@) T @) = |
(S)aﬁﬁﬁm -
12 frefaRe % W few  dmda @

‘FEGITA B IJATR el AT 87

—f T (@) 3TN
(3) TS (@ TS
(5) srgaRd wed

13. ﬁmﬁr@ﬁﬁﬁaﬁﬂwa'ﬂﬁmw ‘AT
Y | FEfE @ 87

M fis - (2 firds
8y 3] (4) |RR
(5) iR o

14. 1857 a?j;rem' AT U H, TS $ Qg
yMﬁ%'ﬁWTm%?
N RIS R Y oo el @ frg
ERT FEA & I[OHES H IRV < |
(2)mﬁsﬂ?ﬁgﬁm30q§1857ﬁ'§§l
@3) I, 1857 © Y A R 3 @
mma‘cﬁ g fear T ey
@ 30 S 1857 1 Frwe & Tg A

Chinhat on 30% June 1857. wRIfSTT gU o |
(5) Question not attempted ! (5) rIRd weq
15. Which of the following villages were granted for 15 FERTT BN 7 famifb ¥ W @AM
the management and worship of Eklingji by TR B AR W G v e ¥ WRH
Maharana Kumbha? RRIRT s .
(1) Ahar, Kalyanpur, Jagat & Kankroli (1) SITES, HOR, T AR FiwN
(2) Anand, Kavita, Gogunda & Mavli () 3R, Bfda, My sk wraeh
(3) Nadol, Dhulev, Ranakpur & Naulai (3) AR, o, VHR AR e
(4) Nagda, Kaloda, Malakheda & Bhimana YT, ?mrvﬁ:q' AT sl S
(5) Question not attempted (5) SRR e
e P,
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16. In a certain code language ‘GERMINATION’

1S coded as ‘IMGRENNOAIT’
‘ESTABLISHED’ is

‘BAETSLDEIHS’ then in the same code
language ‘MATHEMATICS’ is coded as -

(1) EHMTAMSCTIA (2) EHTMAMSCAIT
(3) EHMTAMSCAIT (4) EHMTAMSCIAT
(5) Question not attempted

and

coded as

17. If o, P are the zeroes of the polynomial

f(x) = 2x%> + 5x + k and satisfies the relation

a?4+B2 = % - af, then the value of k is -
(M3 () 2
(3 -3 (4) 2
(5) Question not attempted

18. Three distributions A, B, C are as follows - -
A:2,3,7,1,3,2,3
B: 7,5,9,12,5,3,8 .
C: 4,4,11,7,2,3,4 '
Which one of the following statement is correct"
(1) Mean of C = Median of B gy

| (2) Mean, Median and Mode of A are equal

(3) Mean of A = Mode of C N
(4) Median of B = Mode of A
(5) Question not attempted

P po

19. If the zeroes of the polynomlal x2 + (a+l) X+b
are 2 and -3, then -
(1) a=2,b=- (2 a=0,b=-6
() a=-2,b=-1 (4) a=0,b=-1
(5) Question not attempted
'20. Data 6, 7, x-2, X, 18, 20 are written in ascending
order. If median of these data is 16, then x is

equal to -
(1) 11 (2 13
(3 15 @ 17

(5) Question not attempted

16.

17.

18.

19.

20.

' ‘BAETSLDEIHS’ # fordl %
| ‘MATHEMATICS’ F1 A B
W -

fe va AR ge W 4, ‘G
P ‘IMGRENNOAIT’ @Il *

'I‘AB

(1) EHMTAMSCTIA (2) EHTMM.?
(3) EHMTAMSCAIT (4) EHMTAM
(5) orgaRa oo 4

gv
IR o, B GIS f(x) 2x +5K'*'lc

Tl T al+B? = 2 _of B
ar ket W & —

(1) 3 @2

@3 -3 @ -2
(5) orgaRa e ;

A, B, Cmﬂﬁﬁ'\msﬂm%j '
A: 2,3,7,1,3,2,3

B: 7,5,9,12,5,3,8
C: 4,4,11,7,2,3,4 |
Preifera % & B worm w8 &

(1) CoT 97 = B RIS

(3) AT AT = CHI I8AD.. - 2
(4) B AfeaT = Azﬁrzrga‘cs :

(5) aTﬂ?lﬁ’ﬁ LES] f

o TEUE X2+ (a+Dx +b D "’K”W 2 3__.._4-:.;:
: .Eﬁ,.ah . \ ’sl.; '[ “; &‘!
(1) a=2,b=-6 (2) a_o b..‘“-}fF)

() a=-2,b=-1 @ a-.o b “1‘\,. {“}

(5) argaRa weA | '“«tt rsjv i’-‘é ;

affeel 6,7, x-2, x, 18,20 &y

T ) AR g swst @ m% %

XTR & — -gfm-- 16% ?h

M 11 (2)__:"_’1 |

(3) 15 (4)

6) squfa w L
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21. If the area of one fyce of 4 cube is 1.5 times of 2V AR T B TF Gad Il A, S BE 3
the perimeter of that face (in value), then the URHIT BT 1.5 7T & (A1 ), T T BT A
volume of the cube g . g -

(Rt (2) 144unit (1) 216 3578 (2) 144 5TE
3 512“““_ (4) 312 unit :’ﬁ':](:;) 512 SPTE @) 312 312
(5) Question not attempted Thes (5) aaRa e

2. 1y = 7+V40, then absolute value of%[\/'_%] 2. gfe x=7+V40 g, ol %{v&—%] o1 - fAxveE
is - S -

M Vs 2 v2 (1) 5 @ 3
S @ 2v5 @) 2 @ 245
(5) Question not attempted (5) arEIRaT T

23. A white coloured cube is painted red on all jts 23, U WHg T D HF B T [t bl el T
surfaces. Now it is cut into 125 smaller cubes of far S 21 3@ 39 A PR & 125 B
the same size. How many cubes will have two 1 ¥ Prer ST & | fra B @) < qag ot
faces painted red? ' T P E?

(1) 36 _ ‘ (1) 36

@ 12 , A (2 12

() 24 - (3) 24

@) 48 | @) 48

(5) Question not attempted ®) srgalia T

24. Twelve solid spheres of the same size aré(made 24. v I g1q D Jo9 BT IAUR A 2 JA. =
by melting a solid metallic cylinder of base HaTg 16 WAL B, B NEaHR THH IFR b
diameter 2 cm and height 16 cm. The diameter 12 31 Ml ¢ 0 8| TS M & A
of each sphere is - & -

(1) 4cm (2 1cm (1) 4374 @ 194
(3) 2cm (4) 3cm (3) 29 4) 337,
(5) Question not attempted R W .
25. The radius and slant height of a right circular 25. U T AG P O AR forde SHarg a
: . . i rved surface Fqqa 47 g1 A TwH T gEE SERE
cone are in the ratio of 4:7. If its cu '. ) 792 7 A, B, A T o & —
area is 792 cm?, then its radius is = (Use i3 ) ( n=2 B W )
(1) 6cm (2) 9 cm (1) 69, 2 9u A,
3) 3 cm | (4) 12cm (3) 39/ 4) 12379
(5 Question not attempted B, gt s
0A-+ e Page 6 of 24




e Gt SO R

() wtery. arsh @ P, e \/
? A @) sicRre, st
®) sgaRe wew

27 freaterRen # et wR-fredg @ —

M vo/me = w2 + s

H o] i 'EC

\yﬁaiqﬁr:ﬁq.km @GRoTERT,
5)  IrgaRa v
28. fr=fea % & w1 R Ta—gm & —
() v - g B il
(3) Iad — AT % £ , (4).3-_&0?_’,%3?\/
(5) 3IrgaRa u=A |
20. o % ‘o s Pk T
T o e geflla
N e @ wm |
(5) argaRa g |
30. Py # W ool TR T & R el A G W o e 8 - Bt
(1) Constituent — HEEH @) Confiscation — SRR
e [l -
(3) Consistency — |if (4)  Conservation — SR&Y[
(6) ergaRd uE
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31. Choose the Correct Prepositions to fill in the blanks -

The forest department |hag planted trees .the SIAE..euirenarenenneannee all highways,'
(1Y along, of @) at, inl.
(3) on, by k 4 to, across
(5) Question not attempted
32. Choose the correct Antonym of obtuse.
(1) - perfect @ full
(3) intelligent - (4) round
(5) Question not attempted
33. Choose the correct wanslation of the phrase given - -
‘Absolve from liability’ | . |
() wRea B B9 B | -(2)'anha€§f?ﬁ
ORRECI: \Hy faoda aRfRfY
(5)  Question not attempted
| 34. Select a suitable determiner to fill in the blank -
I've writtento .............. candidates who have registered for the post.
I(‘l) more VB o _ (2) every ‘

N‘37/ each _ @) all

(5)  Question not attempted
35. Select the correct form of the tense from the verbs given in the brackets -

Very unwillingly he (turn) down the sound of the TV and (go) to answer the door bell.

_(2"turning, went

(4) turns, go

(1) turned, went
(3) turned, go
(%) Question not attempted
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36. Under Rajasthan Budget 2025-26 to take the 36.

state further ahead in the field of renewable
energy, how much energy production through,
the private sector is proposed to start in the year

2025-26? !
(1) 10 GW (2) 100 GW
(3) 1GW @ 100 MW

(3 Question not attempted

37. Which faculty member of which institute of 37-

Rajasthan has been awarded the INSA Associate

Fellowship (IAF) by the Indian National Scienée

Academy (INSA) for the year 2025 for his

outstanding  research contribution : in

understanding the neuronal protein quality

control mechanisms in ’neurodegencrqtive

diseases?

(1) Dr. Sucharita Dey, Indian Institute of
Technology, Jodhpur | |

(2) Dr. S.S. Agarwal, AIIMS, Jodhpur

(3) Dr. Kuldeep Singh, AIIMS, Jodhpur -

(4) Prof. Amit Mishra, Indian Institute of
Technology, Jodhpur e

(5) Question not attempted

38. Consider the following statements about = 38

‘Ajoo Gooja’ -
.(i) ‘Ajoo Goéja’ children’s festival was held
on February '22-23, 2025, in Bikaner of
Rajasthan.
The ‘Ajoo Gooja’ children’s festival was
organized by the Rajasthani Language,

(i)

Literature and Culture Academy.
Which of the statement/s given above is/are
correctv‘?_ ' |
(1) (i) only (2) Both (i) and (ii)
(3) (ii) only (4) Neither (i) nor (ii)
{5) Question not attempted

Foll & &7 F 3R et of WM B ferd

Fit
i L T (3)

VISR g€ 2025-26 & =i o @ 9%
ﬁﬁﬁaﬁ
??mﬁaﬁzozs-zﬁﬁﬁﬁmfﬁﬁm
URH fdar s wRanfaa 27

(1) 10 GW %) 100 GW

) 1Gw (4) 100 MW

(5) Irgaia v _

o 2005 @ Rre e g et ST

(TETATHY) G oReH @ fa A Eﬁ

<RI S o fris R B EE
SHE WY ATEH B fg INSA TAINITE
AR (IAF) BT RebR faam 82
(1) a=dr e e, SRR W
Sf. gAIRar s :
(2) e ARG sgfdsTa R, QR
FRae WRAE Sngfis R, AER B
Sl gaciy 48 | |
@) TR dERE e, SR
oo ofaa fsm -

) saRa e

PN — : _

@) ‘ameg e faes wReaw 22-23 YR
2025 zﬁ‘rwmahﬁmﬁvﬁrmhm
fdar | '

(i) ‘omef o fres BReaw oy

eI T, IR R Sy

gR o T S 10
SR Y T P /e W R By
% /N
(1) (i)W (2) () 3R (ii)a\Fﬁ
(@) (i) B @ 7 @ Dy
(8) argeiRel we FOREY
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. ﬁ;:[%ﬁqﬁ HUAl N faar y
39. Consider the following statements — 39

(@ In March 2025, Professor Abhay ' (i) A 2025 § gieEY lb'l’\{@?f:
Karandikar took over the charge of the GTffW'TH W W
CEO of ‘Anusandhan National Research v (qmaﬂ?@?) & gl IR AT |
Foundation® (ANRF). : ' (i) TUHSIRU® L e “hfer Q:F\’&ﬂ) i
(i) ANRF will act as an apex body to give ﬁl‘ﬂﬁ?ﬁa\’ AR 21 AeFe eI
high-level Strategic suggestions regarding ' & ey A I T uEfad SSEC] &

scientific research in the country as per
recommendations . of thé National

& forg v A () From @ w9 A

Education Policy (NEP Tl ol G Wl :

Which of the Staterie(nt/s )glven above ls/are | OW fag 1 ®AT/ ?ﬁi’Fﬁ G| H?T:R‘IT/ ﬁ Lk
correct? _ - L B/E it |
(1) Both (i) and (ii)) (2 Néither (i) nor (ii) () Gy S8R (n)ﬂﬁ @ T <i>“=“‘€f ()
@) ()only @ (i) only 5. L @) ) Pae @). (i) DA
(5) Question not attempted i 5 GFjﬁﬁH g : L o

40. Who was sworn in as the Prime Minister of 40. 71, 2025 3§ fbdl FeTeT & EFEHA & wU 3
Canadain March, 20257 oot Rt T2 |
(1) Mark Carney () Bill Blair ) W B (2) Rd oRR
(@) TeryDuguid . (4) DominicLeBlanc - () S gRs . @) AT s
(5) Question not attempted . - (5). IpEIRa W fo

41. Which of the following statements ils‘n_'QL correct - . "W 3fETT AT R 2025 B IR H f=fefag
about “Khelo India Para. Games 2025”? . - awﬁ:m-[ B -‘crg’[ B ?? : '
(i) It was the 3" edition of the Khelo India . @) g e gi%m AT N BT GERT TR

_Para Games, held from 20-27 March 2025 ‘:j!;a‘u!:‘ o, S 2027 W1 2025 T = Rt ﬁ

in New Delhi. | R : Ay
(i) The.‘Snow Leopard’” was the Official i ’ _
Mascot of the Khelo India Para Games i Fﬁ us wWell R Wy e 2025 &1

s A, 3MErPIRS FHBR o |
| (iii) It held events in pafa archery, para (iif) T W e, ARy verRifedE, i
» athletics, para badminton, para | a@’ﬁiﬁ =7 qrarferfiET; txy ‘\’ﬁv IR ﬁﬂ
1 pé)weﬂifﬁng, para shooting and para table 29 o A Ui &) T |

tennis. SR ; e Aoy o -

Choose the correct option-

‘. (1) ®aa () 3R i) (2) -
| (M (i) and (ii) only (2) (ii) and (111) only (1) P (i) 3fie (ii1)

@) (i) and (iij) only @) (), (ii) and (iii) ('5) AL AR i) @ G, (i) s (iii)
! (%) Question not attempted , (5) FFART e
[Hairm et B .
{ OA - <= ' Page 10 of 24



42. On 5 March 2025, the first production lot of

32-bit microprocessors VIKRAM3201
KALPANA3201  developed for
“applications were handed over to ISRO.
Consider the following statements in context of
these and choose the correct option —
Statement A -

and
space

These microprocessors were

designed and developed by
Vikram = Sarabhai

Centre of
collaboration
Chandigarh.
VIKRAMB3201 is the first
fully “Make-in-India” 32-bit

Space
ISRO in
with  SCL,

Statement B -

INiCTrOprocessor.
Statement C - :
32-bit SPARC V8 RISC
microprocessori. ' o
(1) All the three statements A, B and C are true
(2) Only statements B and C are true
(3) Only statements A and B are true
(4) Only statements A and C are true
(5) Question not attempted
- Consider the following statements —
() InFebruary 2025, the Ministry of AYUSH
conferred the ‘National Dhanvantari

Ayurveda Award’ to Sameer Govind :

Jamadagni, a renowned Nadi Vaidya and
author from Rajasthan.

He received a citation, a trophy featuring
the Statue of lord Dhanvantari, and a cash
prize of ¥ 10 Lakh. '

~ Which of the statement/s given above is/are

(ii)

correct?

(1) (i) only (2) Neither (i) nor (ii)
(3) (ii) only (4) Both (i) and (ii)
(5) Question not attempted

OA -=%=

KALPANA3201 is a

42,

43.

Fafe

5 AT 2025 Y aidRer s @ 8

fe e e 320 33:[
B 3201 @ Seare F ggen A7
iy e | |
.mmﬁﬁmﬁrm'mwwﬁﬂ“m
a1 98 fawed gy — '
T A — T AR B @?ﬁqj%
des & wedrm & O
R RPTS mﬁa'ﬁ_gm
%ﬁ@ﬂaﬁ?ﬁﬁﬁmmﬂl
AT B — ﬁmzmqmiﬂfﬂm-
' | ﬁq;_g:{_g%'m 32-fa€
. AR
FoF C — Beg3201 we  32-f€ -
ELEECIRE IEAGRCIR AT €
(1) G FUTA,B 3R C T §
(2) dadt FHTBIR C G T
.(3)W$%A3ﬁ‘\’BW§
(@) dadt PUTAIR C T E
f5)a§ﬂﬁam
frafeRad domi W faR & —
G) * TREd 2025 ¥, YW HAGT I TSR
@ RTE Tl 99 SR oEd Wik Mide

e | !

o T FORT T, T a<aR o
ufoer arel T Sl 3R 10 SRy &
. P R A
memm/ﬁﬁﬁﬁﬁw/ﬁm
g3/8°

(ii)

(1) (i) Bl @ 7 Gy G
(3) (i) daa @ OIR Gi) gy
(5) Jrgaa we
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44. Consider the following statements regarding

Nuclear power in Union Budget 2025-26 -

(A) Recognizing nuclear power as a critical
component for achieving energy security
and Sustainability, the Government has

introduced the Nuclear Energy Mission
for Viksit Bharat.

(B)

The Government is actively expanding its
nuclear energy sector by developihg
Bharat Small Reactors (BSRs). BSRs are
440 MW  Pressurized Heavy Water

Reactors (PHWRs) with a proven safety
and performance record.
Select the correct option -

(1) Both the statements (A) and (B) are correct
(2) Only the statement (A) is correct
(3) Only the statement (B) is correct

(4) Both the statements (A) and (B) are not
correct

(5) Question not attempted

a4,

(B)

STt & @1 ReE B & § | dLTHAR.
A0 MW B Tad T AR oia RgaeR
Muaseqer) & fE@ @ e

R AR wee Rt 2|

T fadea &1 =97 P —

() TRt (A) TR (B) A W

(@) Bac P (A) A T ®
(3) Bact A (B) & Tl ©
(4) AT (A) TAT (B) AAT TRl TS ©

(5) argwiRa weA P,

45. While replying to the discussion on the Finance 45- IoRo e & i wd fafaw foas
anc? Appropriati.on l?ill (budget 2025-26) in the (@97E 2025-26) W T BT @ = R LE)

] R.a_]a.sthan Leglslatl.ve A.ss.embly, in which B R o o oy ST

district did the Chief Minister announce the .
construction of a panorama of Sant Sadaramn Ji TR BN YO DY
Maharaj? A (1) TR RNTRAR
(1) Barmer (2) Bharatpur (3) SRR - @) igaret
(3) Jaisalmer (4) Banswara ) erg%ﬁa <43 :
(5) Question not attempted

4. A person standing on the floor of an elevator 46. s arfaq fome & v R We e & Rygwt
drop a coin. The coin reaches the floor of the fiRar 21 Rae fowe @ ot R o 4 A
elevator in a time ti when the elevator is Ugedl g, W e Rer 8 @ olR g to
stationary and in time t2 When it is moving with g T8 THUAM A § 9 3@ B 2, Y —
uniform speed, then - M u=t
M u=g, S
@ 4> @) 4R LD <= F W T R PR w=a
(3 The relation between ti and t2 depends on & fo m IW B AR O I T A1 SR

Whether 1ift is moving upwzird or downward. B AR

@) < 2 (;) t1<t2ﬁa
2 Question not attempted B oy

\
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47. The substance present in the cells of cork which 47 ®fa F\Rigral 3 SaRera gar! of 572 M %
makes them impervious to gases and water is - et & R ante T ¥
(1) Cellular debris () PR®EFa T (SaRa)
(2) Cutin (2) e
(3) Suberin @) IR
(4) Lipoprotein @) R
(5) Question not attempted (5) argeRa e , |
48. The decomposition of vegetable matter into  48. yH—wfeeadl (q@vufa &) @ fafed i
compost is an example of - PHURE 99T SN0 & —
0} Ectothermic Reaction (I1) TS I o1
(20 Exothermic Reaction A2 sEmEd A o
(3) Isothermal Reaction (3) [HarfT fAfFar o1
(4) Endothermic Reaction (@) ot fEaT @7
(5) Question not attempted - - (5) arERd we=
48. A force of constant magnitude is applied on a  49- Te @vT UR AR YROMH T T del AT WAl
particle which is always perpendicular to the 2 S U D AT D m Sqag gm'gyam
velocity of ‘the particle. The motion of the A %I s R A =
particle take place in a plane. Which :
/) quantity/quantities will remain constant in thpis RAAU R LN sHI?
motion? (1) 37 IR e St
(1) Velocity and kinetic energy (2) 977, @ROT IR IS St
(2) Velocity, acceleration and Kinetic energy 3) W e
(3) Only kinetic ener
(4) Onl}),' acc¢elerationgy R
(5) Question not attempted 1 (6) srgaRa e
50. When Hormone Adrenaline is secreted, then - 50. g g UgHeA nfdd B R, 9 —
(1) the breathing rate decreases (1) a9 R HF & o ¢
(2) the blood to the digestive system and skin is (2) gre = 3R e #F BN W gy Gﬂm 3
reduced (3) §ZY R gsHar ©
(3) the heart beats slowly (4) FHra ORw § SRR BT T8 EL Y .
(4) the blood flow in skeletal muscles reduces i
(5) Question not attempted (5) IR UeH

OA -4
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51. Match List-I with List-11 and select the correct  51. q\?ﬂ—-l?ﬁ @"Hﬁ .\T}W Eb—;::T :\:m‘ 52.
answer by using the code given below the lists - @ kg W R a9 Sl o
List.I TH-
(Articles) g@
(A) 326 (arg=S3)
(B) 327 (A) 326
(C) 328 (B) 327
‘ (D) 329 | (C) 328
| ListI | (D) 329
; | (Contents) : s -l
i (i) Power of Parliament to make provision y

() fum—ssat & fog fFratadl @ Hag A
| | STy FRA B WS B Al
l} (i1) Bar to Interference by coqrts in electoral ’ '(ii) o i @ :

{ matters

with respect to elections to Legislatures

| (iii) Elections to the House of the People and to : (iii) A T AR Tl B AT TRl @
l the Legislative Assemblies of states to be il B TRE TORER 3 'm W
Kl

(iv) fo T0 & fum—vica & fog fHate-l

on the basis of adult suffrage

(iv) Power of Legislature of a State to make

\ provision with respect to elections to such D HeU H IUeY R B Y fAuH—Aea
| Legislature | EJ| Elll?ﬁ
Code- = o -

(1) (A)-(ii), (B)-Gv), (C)-(1), (D)-(ii) () (A)-Gid), (B)-Giv), (C)-(i), (D)-Gii)

@ (A)-Gi), (B)-(), (C)-(iid), (D)-(iv) @) ()G, B)-G), ()i, (D)-(iv)
fi (3) (A)-G), (B)-(ii), (O)-(iv), (D)-iii) 3 (A>0), B)-Gi), (C)-(iv), (D)~
() (A)-(Gii), (B)-()» (O)-AV), (D)-Gii) @ (AX-Gi), B)-Gi), (C)-(iv), (D)-(ii)
(8) arTaRy
(5) Question not attempted STIRT S
OA - + 'Page 14 of 24
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52. Consider the following statements regarding

53.

Union Council of Ministers -

(I) A person who is not a member of either
House of Parliament can be appointed a
Minister. But if he does not get a seat in
either house within six consecutive months
from the date of his appointment, as
Minister,'he ceases to be a Minister.

(I) However, he can be appointed as Minister

again when he is elected as a memb'er of

Parliament. The Minister has the right to

attend both the Houses and pafticipate in

their proceedings but cannot vote in the

Hous_e of which he is not a member.

Choose the corréct option -

(1) Only (II) is correct.

(2) Neither (I) nor (I) is correct.

(3) Both (I) and (I) are correct.

(4) Only (I) is correct.

(5) Question not attempted

Under which of the following cirqums;énces can

the Speaker of the House of the People losé his

position before completing the full term?

(i) - If he ceases to be a member of the House of

the People.

If the House of the Peoplé passes a
resolution for the Speaker’s removal by a
majority of the total number of mem]g_ers'of

(ii)

the House present and voting.
If the ruling party loses its majority in the

(iii)
House.

(iv) If the President dlsmlsses the Speaker,

Select the correct option -

(1) (i), (ii) and (iii) only (2) (i) and (ii) only

(3) (i), (ii), (iii) and (iv) (4) (i) only

(5) Question not attempted

52

53.

Wﬁm#ﬁwﬁwﬁwm

FUA R far Ay —

@Yﬂﬁémﬁam‘rmzﬁaﬁﬁﬁwﬁﬁ
A & wEd | @ 99 7 G e
mm%lmaﬁwﬁsﬂﬁ{ﬁ“ﬂ
3 a% Frgfid @ airg @ AR ©
B o & e 2 5 4 e AT
PTG | 9 TS a1 a8 7 >

) M woE wew @ w9 § g

e o foe @ o o 4 g
ST T 2| A ) G e 3 SIS
ﬁmmwmﬁmﬂ
o & T 7 S e R
Hadr fIeT 98 wew 48 & |

WWW‘WW—

(1) Pad (1) | & |

s dr @ATE AN T

(3 (1) vd () A wé § _

(@) dad ()& & | az .

(5) argaRa T '

RyERiRed § O frw TRRR § A @ P

JETET YT BIABIA TR A ¥ g (T U

W TEl &1 3§ FHaT?, '

(i);f?a'a'a‘rajwm\wa/wﬁﬁ'm

(ii) Hﬁmwwﬁmsﬁqw
P dTel Tl T D TGAT O onay @y
ECM &1 TRATT qIiRd Bt 8|

llﬂ:l.'l;
L.Jiii)uﬁﬁﬂmaawﬁa{wm@

AT E |
(iv) aﬁwﬁm&aﬁa@mmmé

&) e T — ')_\

%(W (i), (ii) 3R (iii) (2) Daw (i) Sﬁq (n)

(3) (i), (ii), (iif) 3R (v)- () ah-‘:’(l)
(5) srgaRa oA

¢

e
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OA .«

54. Under Which of (e following Articles of the

Constitution of India, ‘No criminal proceedings

whatsoever shal] pe instituted or continued

against the President ip any Court during his
term of office’?

() V6L B (2) 361-A

(3) 361 (2) (4) 361 (4)

(5) Question not attempted

- Under which of the following Articles of the

Constitution of India, “No judgement shall be |

delivered by the Supreme Court save in open

court”? _ .
(1) 145 (5) @ 145@2)
(3) 145 4)

- (4) 145 (3)

(5) Question not attempted

. Match List-I with List-II and select the correct

answer from the code given below -

List-I List-II
(River) (Tributary)
(a) Mahi- . - (1) Niwaj River

(b) Kali Sindh (i) Gambhiri River

(c) Parbati (iii) -Anas River
(d) Bedach (iv) - Aheli River
Code -

() (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
@ (a)-Gi), (b)-(i), (c)-(iii), (d)-Gv)

@) @-(iv), (b)-(iii), (¢)-(ii), (d)-()

@) (a)-(iii), (b)-(iv), (c)-(D), (d)-(ii)

) Question not attempted

S
page 16 of 24

55.

e ?

(1) 361 - (2 361 -
(3) 361 (2) Ntaf 361 4
(5) ygafka ue .

W%Fﬁaﬁiﬁﬁfﬂfﬁﬁﬁﬁﬁmﬁm

e W & gATET, s A4 2

@) 145 (2)

(1) 145 (5)
431 145 (4) (4) 145(3)
(5) srRa we

56.

N1 B - B < G B A
R T A 7 [ WA TR BT TTT BN —
.= S i |

(1) o (oEEs W)

',*‘(?),“@; ) O fyars =&
 (b) BTN R e (i) TR 7Y

() UER (ili) I T
d) z‘:tc,'a o (iv) 3l 99
s

(1) (@)-(iii), (b)-(i), (c)~(iv), (d)-(ii)
() (a)-(ii )(b)-(i), (c)-(iii), (d)-(iv)

3y (2)-(iv), (b)-(iid), (c)-(ii), (d)-(i)

@) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(5) T TART weq




57.

58.

59.

The correct descending order of districts in terms’

of Wheat production under Rabi Crop in 2022-23
in Rajasthan was -

(1) Bundi - Chittorgarh -

Hanumangarh

Ganganagar -

(2) ‘Ganganagar - Hanumangarh - Chittorgarh -
Bundi

(3) Hanumangarh - Ganganagar - Chittorgarh -
Bundi

(8) Hanumangarh - Ganganagar - Bundi -=-

Chittorgarh

(5) Question not attempted

Arrange the following peaks of Aravalli range in -

ascending order according to their heights -
(A) Dhoniya Dungar
(B) Rishikesh

(C) Kamalnath

(D) Raghunathgarh
(1) (), B), (D), (A) (2 (A), (C), (B), (D)
(@) D), (A),(B), (C) A (B),(A), (C), (D)
(5) Question not attempted

Which of the following statement is not correct?

. (1) Thestatesof Haryana and Punjab are located

in the north-east of Rajasthan.

(2) Rajasthan has greater territorial expaﬁse than
countries like Italy, Norway, England.

(3) Rajasthan is situated between 69°30' to
78°17' west longitude.

(4). The Tropic of Cancer passes through, two
districts of Rajasthan.

(5) Question not attempted

OA - %=

57.

58.

437 D), (A), (B), (C)

o ¥ @ mEA 2022-23 B 14
ﬁmﬁq&ﬁﬁaﬁwwﬁﬂmﬂ

o —

R — Rt — TR — AT

(2) TR — BTG — RrireT — 49

' (3)’331141:1113 — TR — fFrilere — gl

(@) TTAFTIE — TR — g — RRISTE
(5) argaife o

SR e @ Prefaa dfedt @ ST
$a¥ @ FGER IRA FW A ayafRerd
IS —
(A) e ER
(B) FR&H

s & T

- (C) dHA™A

(D) XHRRTG =
(1) (©), B), (D), (A) @ (A), (C), (B), (D)
@ (B), (A), (O), (D)

(9 FTaRa wga

59. fa=forRag & 1 dIFaT FF Fal L 2?

(1) IoE & SIR-T@ H FRAT w6 gy
oy Rerd €1\~

(2) orerE, geol, A, SRS SR Rey
e & faaR @dr B 1 — |

ﬁ((s) IR 69°30' | 78°17" uf¥em TR 3

Page 17 of 24
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60. The 80 cm Isohyet do not pass through which of

61.

62.

63.

i

“‘[ OA - o

the following districts?
(1) Pratapgarh (2) Banswara

(3) Bundi (4) Jhalawar

(5) Question not attempted

During the Census 2001-2011, what was the

change in the density of population of

Rajasthan?

m+28 @
(3) +38 | @ +35
(5) Question not atterﬁpted |

Road density in Rajasthan a‘s oﬁ December 2024
was -

(1) 72.66 km/100 square km.

(2) 81.21 km/100 square km..

(3) 86.22 km/100 square km. L
(4) 92.66 km/100 squaré km.
() Question not attempted
Which of the following are not breeds of sheep?
(1) Chokla and Sonadi

(2) Magra and Kheri ]
() Jamnapuri and Malvi

(4) Pugal and Nali

(5) Question not attempted

i
. 80@"% & -ﬂ—qaq'i Xdi [5|li||3|[t§' d 'ﬁ[ % %
Rt & 7l T &

64

2) §raTS]
(1) udiaiTe =
. _ 4) SATATAIS
\407/3@. (4)
" () IR WA

61; 2001-2011 - STTUTAT & IRM T 1
ST T 3 fpae uRacdA arr T

—17 428 (2) =32

(3) +38 A (@) 435
(5) agaRa sra?f

62. IroRere ¥ fRER—2024 H WS HAA o —
(1) 72.66 ﬁsﬁn /106311‘ .1
(2 81.21 ﬁs.vh./moavf ﬁ;.rﬂ.. |
3) 8622 f&#. /1100 a7t fasAN.
@) 92.66 f51. /100 7 f A,
o) axa%:ﬁa g
63. famforad § & BTN W3 A A T B
(1) e R weE
@ TR W
(3) SR SR ATy
(4) T 3R el v
(5) rgeRa e

_____'____._.———'—__-—‘—-—-—-_.______
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64.

65.

66.

~ related with

Match List-I with List-II and select the correct

answer from the code given below -

(Cement Plant) (District)
(A) Shree Ram Cement (i) Kota
(B) ACC Cement (i) Chittorgarh
(C) Aditya Cement (iii) - Bundi

(D) J.K. Laxmi Cement
Code -

(1) (A)-(iv), B)-(ii), (C)-(iii), (D)-(®)
(2 (A)-(1), (B)-(iid), (C)-(ii), (D)-(iv)
@) (A)-G), (B)-(iii), (C)-(iv), (D)-(i)
(@) (AX(ii), (B)-Giv), (C)-(i), (D)-(ii)
(5) Question not attempted

(iv) Sirohi

Which one of the following (Minerals-Mining
Area) pair is not correctly matc-hed?. |
(1) Lead & Zinc - Aguéha—Gulabpura
(2) Iron-ore - Nat ki Neri

(3) Copper - Kho-Dariba

(49) Manganese - Kalakhunta

(5) Question not attempted * !

Which of the following characteriétics are
cognitive dev€lopment  in
adolescence? _

(a) Hyp(')thetical-deductivé reasoning

(b) Imaginary audience '

(c) Personal fable

(d) Object Permanence

Choose the correct code -

(1) (a), (b) & () @ (a) & (d)

@3) (a), (b), )& @) (4 (b) & () _

(5) Question not attempted

OA - =

64.

65.

i TR LB, p

e

-1 ok -1 B R e AR
T Tl ¥ § 9 IR BT FIT A — '

-1 -1
(e <) (Rere)
(A) #Rm A= (i) @rer
(B) TH W= (i) RrISTS
(©) nfemr A= (iii) 41
(D) S, wed Wi (v) RRA
e —

(M (A)-(iv), B)-(id), (C)-(iii), (D)-(i)

(2) (A)-(i), (B)-(iii), (C)-(ii), (D)-(iv)

) (A)-(ii), (B)-(ii1), (C)-(iv), (D)-(1)

(4) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)

(5) rgaRa ued

frfaReg (@Fa—aw &) = § sl

R T 22

XA e 3R SR — STE AT

66.

Page 19 of 24 :

(2) dE—ar s — A1 B A

@) dfar - @—gan

@ i = “HIIRGET N

(5) xRS weA

fafeRed # @ oA AAvad fHeiRTawerr §
He e faem o wdfta &7

@) IR PSS

(@) dTAHD

(@) <afkmra dem)

@) T wnfra—

TE HE BT T BT —

M @) @ @@ 2 T ()
(3) (@), @), @) & (@) @) @) W6 (3)
(5) argaRa WA

e




PETr = = o S —

67 h i
Which of the following statements are not 67-

orrec
COmreCt with reference to physical development
of adolescents?

(a)

il

In boys, adolescence may begin a year or
two earlier than in girls.

(b)

In adolescence the sjze of larynx is similar
In boys and girls.

(¢)  The secretion of sebaceous gland INCreasegemmry
in adolescence.

(d) Boys and girls reach reproductive maturity
in adolescence.

Choose the correct code - :

M) () & (@) (2) (a) & (d)

B D&E© @ @&b)

-

el & TR e & W e,

ﬁﬁmiﬁmw:ﬁag?
Wmaﬁmgﬁam%;ﬁ

() Freierer R T STOR S b
mﬁwtﬁ'ﬂ'{%l

) R 3 aamE (i) 91
&a 9g SR |

(@) wed IR SRl ﬁfﬁﬁ?ﬁwﬁm
gRUFIAT qF TET W € |

TS He BT qgT PG — |

() (@) v (2) @ .95

(3) (@) va (4@ C @) wd (@)

(5) Question not attempted (5) FgaRa g
%8. As per (amended) the ‘Right of Children to Free  68. ‘frged ol afaRt @ far  3ifam
and Compulsory Education Rules, 2010’, the e, 2010 (HNfE) & IR TS TATTER
constitution of National Advisory. Counc}i_l yRye &1 T fsfaieag 9 fiTW BT —
should consist of - o ) @ émm - [——
(1) one Chairperson and twelve members
(2) one Chairpersbn and eighteen members &) W B T T
(3) one Chairpersoﬁ and fourteen members \MM&T sﬁ‘\’ AT W
(4) one Chairperson and sixteen members (4) TH ITE IR WelE T
(5) Question not attempted (5) rgaRa ueA
69. Whose responsibility is to supervise the 69 Tien fwm w uRww Swm (ST3e) ¢
academic work of the ‘District Institute IPRAD BT BT THROT HAT U M
of Education and Training’ (DIET) and provide Arfesl Uem Fx &1 B fhaer 27
educational guidance? (1) IR R T et i
(1) Rajasthan State O'pen School @ SRITTE Sifw Teaivs Ted 3 N
(2) Institute of Advance Studies in Education
, : By T T AR SR AR
(3) Rajasthan State Institute of Educational .
Research and Training ‘ (3) IR Tt R A
(4) Rajasthan Board of Secondary Education
(5) Questibn not attempted (5) SrgeiRa s
S0 L
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70. Jiya lost her legs in an accident. She is now

YIng to copy the behaviour of Avani Lekhara,

an Indian rifle shooter, who was gold edalist in

Paralympics 2024, what type of adjustment
mechanism is adopted by Jiya?

i, o T S

CE

70. ﬁfm#wgdamﬁmfh@favlaﬁaﬁ

ARAWT IEHA e} AT AERT @ FIEN
THA A B DAY T @ L, A

2024 % ot T Frorr o | R 3 R TP
P e gfad HaArE 87

(1) Reaction formation (2) Identification (1) uffpar fmfor (2) amreﬁrmwu
(3) Projection (4) Rationalization (3) mgay @) W Al %
(5) Question not attempted (5) IgaRa we=
. Match the following basic functions. of . Moy Tgw @ IR BRI Eﬁ SEed aief P
educational management with their meaning - ¢ wrer gAfera HIAT —
~ (a) Planning (i)  Establishing formal T, @) fFavm () TR @ atoenR®
structure of aﬁ’thority ! AT Remfad HAT
(b) Directing - . (i) Interrelating various - @) fade= ol & faft @l
| parts of work : i\ STRIART AT
() Coordinating (iii) Broad outlining of @)w i) fry o arer Tt
g things to be done ' : a?‘ 2 HAXET FAET
(d) Organizing  (iv) Issuing spéciﬁc orders (<) XS / 7 faftre ameer @ik
. and instructions e e 9 &R
Choose thé correct code - el e Bl LRk ﬁﬁﬂ? -
1) (a)-(iii), (b)-(iv), (€)-(id), (d)-() (e (e1)— (111) @- (lV) &), @)-0)
(@) (@)-Gi), (b)-(), ()-Gv), (d)-Gii) () (a1 )__ (i), @-@). @)-Gv). (@)—(ii)
(3) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) @) @)-(). @-Gi). @i, @)—(v)
@) @-(iv), B)-(ii), (©)-(0), ()-ii) N @-@)—Gv). @)—Gii). ()6, @i
(5) Question not attempted | (5) araRa w
72. “If the student’s rﬁind is tired, he is unable to afg fdemeft &1 79 o B3 T, A ?ﬂmﬁ N j
learn even if the learning environment-. is vagqﬂ B 8T W 9% g ﬂﬁ "ﬂ?ﬂ :
suitable.” This statement refers to which 21 T8 HuA odffeEd ERT 9AIw MU m oy
Secondary Law of Learning as stated by e @ Geftq Bear 27
fhorgdlhe? , I (1) i fn 1 P -_
(1) Law of Partial Activity _ L
(2) Law of Mental Set (2) e fa= o frew
(3) Law of Associative Shifting LA uRad &1 fram
(4) Law of Assimilation (@) iR o
(5) Question not attempted (5) IrgfRd <
OA -%= Page 21 of 24 \




73. Teaching Materijg]

75.

@

Prograi, - is prepared for Shiksha Vani

() By SCERT, ung
(2) By EduCatiol] c
of DIET

er the leadership of NCERT
olleges, under the leadership
3)

By Teachers, under the leade

hi
schials rship of open

By DIET 4,4 other institutions,

‘ under the
leadership of SCERT

(3 Question not attempted

Teiachefs have given some suggestions for
sg 1001.1m.pr0vement to the Principal. He listens
to their ideas and study them to take final

decision accordingly. This type of leadership

style is known ag - . :

(1) Autocratic style (2)- Dg:mo'cratic style

(3) Bureaucratic style (4) Delegative style
(S) Question not attempted

Match the following Chapters of the ‘Right
of Children to Free and'Compulsory Education
Act, 2009’ with their names - '

" Name of Chapters
(@) Responsibilities of Schools and Teachers

(b) Duties of appropriate Government, Local
Authority and Parents

(c) Protection of right of children

(d) Curriculum and completion of elementary
education : :
Serial No. of Chapters

(i o

(i) IO

(i) IV

@iv) V

(v) VI

Choose the correct code -

(1) (2)-(), (b)-(iii), (©)-(ii), (d)-GV)

@ (a)-(ii), (b)-(v), (c)-(iii), (d)-(1)

(3) (a)-(v), (b)-(D), (©)-GV), (d)-(ii.) :

(@) (a)-Giii), (b)-G), (©)-(¥), [@)-GV)

(5) Question not attempted

OA - ==

7. femarhy adma ¥ R g,
foman g -
mhgeRA.  (NCERT) O A
A g aREL (SCERT)"g.T\'T
@) <rge (DIET) @ T4 ¥ e Asfdam

(m@fﬁaraﬁa’aﬁqﬁﬁﬁmﬁam.
@) TR EaRA, (SCERT) & T LI
(DIET) Td o &Rematt gxr

(5) arfaRa weA

74 Rt 3 Reer geR @ forg germrard @1 g
Wﬁ??lﬁmﬁaﬁaﬁwéa
I SR Bk S JgER dfad
ST # | §H WBR B el FEerd 8 —
(1) e dch  \2r < el
(3) A deft (4) i A

,#s.-ﬁ;g@@aﬁaﬁwﬁrwaﬁw

SRR, 2009° & FrAfRag Rl B S
it & <pfer T —

ATt & A

(@) fE@al dR Rgel & Suade

(@) wHRE. WeR, et 3f
Ha—far &

() D & JTFR BN
@) uRfre Rem &1 wegamd AR IHET g
far S
It B W GE
i 0
(i) I
(i) IV
@iv) V
. (v) VI -
HEl T BT TIF DT —
I EN-G). @)(Gii). (@)-Gi). @-—Gv) -
() @E)-(ii). @—Gv). @)-Gii). &)-0)

@) @), @—G). @)-Gv). &)-(i)
\(}L%‘)—(iii), @—Gi). (@)—(v). R)—(iv)
(8) IIRT wreA
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